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for (A ; B; D) {

C;

}
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while ( B ) {
C;
D ;

}
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if ( A) B ; if ( A) if ( A1)
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cout << (i <60 7 60 : i ) << endl ;
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int sum = 0 ;

sum = sum + 1 ; sum sum + 3 ; sum = sum + 5 ;

sum = sum + 7 ; sum
cout << sum << endl ;

sum + 9 ;
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cout << 1 << " " : cout << 2 << " " ; cout << 3 << " "
cout << endl ;
cout << 4 << " " ;5 cout <K 5 K" " cout << 6 <K " "y
cout << endl ;
cout << 7 << " " : cout << 8 << " " ; cout << 9 << " "

cout << endl ;
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cout << "*" << endl ;
Cout << ll*ll << II*II << ll*ll << endl ;
COut << l|*l| << ||*|| << l|*l| << ||*|| << l|*l| << endl ;
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BEANNAFRER
// %] . 1x1=1 1x2=2 1x3=3 ... 9x1=9
Cout << 1 << "X" << 1 << n=n << 1 << n n ;
cout << 2 << "x"M K< 1 <K< "=" K 2 " " ;
cout << 9 << "x" K< 1 K< "=" K 9 k" " ;

cout << "\n" ;

// EBEH] . 1x2=2 2x2=4 3x2=6 ... 9x2=18

cout << 1 << "x"M K< 2 KL "= 2 " " ;
cout << 2 << "x"M KK 2 K "=" < 4 " " ;
Cout << 9 << "X" << 2 << n=n << 18 << n n ;

cout << "\n" ;

// B . 1x9=9 2x9=18 3x9=27 ... 9x9=81

COUt << 1 << "X" << 9 << n=n << 9 << n n ;
cout << 2 << "x"M <K< 9 K "=" K< 18 < " " ;
COUt << 9 << "X" << 9 << n=n << 81 << n n ;

cout << "\n" ;
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for (i =1; 1i<=9; ++i ) {
cout << J << "x K i oK =t L 1*J << " "oy

cout << "\n" ;
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for (j=1; 3j<=9; +j){
for (i=1;1i<=9; ++i ) {

cout << j << "x" << i << "=" < ixj o<

cout << "\n" ;

}
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#inclue <iostream>
using namespace std ;

int main() {

int 1 , j ;

for (j=1; 3j<=9; +j){
for (i=1; i<=9; ++i ) {

cout << j << "x" << i << "=" KL ixj o< "o

}
cout << "\n" ;

}

return O ;

}
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int n ;
cin >> n ;
if (n==2) { cout << n << " FEHEH\n" ; return 0 ; }
if (n%2==0) { cout << n << " NEEHE\n" ; return 0 ; }
if (n%3==0) { cout << n << " NEHEHE\n" ; return 0 ; }
if.( n% (n-1) == 0 ) { cout << n << " AEEH\n" ; return 0 ; }

=
cout << n << " EBHE\n" ;
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AMEBER
DL ERYRE > BRT 26— if RN » B Ry R Ny B BeE BLAIE > Bl 2
Bt — BRI E] n-1 - FrLLE AR DUE ] 8 BoRBR HERHE R 1 QIREE —
Al 48 42 = Bl 25 A A2 =0k ] 388 38 ' e — Sl sl iz 1 > R =X m] DASRCES 1o
for (int 1 =2 ; i <= n-1 ; ++i ) {
if (n%i==0){

cout << n << " RNEEH\n" ;
return O ;

h
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#include <iostream>
using namespace std ;

int main() {

int n ;
cin >> n ;
if (n==2){ cout << n << " ZEH\n" ; return 0 ; }

for (int 1 =2 ; i <= n-1 ; ++i ) {
if (n%i==0){
cout << n << " AEEE\n" ;
return 0 ;
}
}

cout << n << " EEH#\n" ;



}

return 0 ;
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cin >> n ; // #EYIE

cout
cout
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cout
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cout
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ll\nll ;

2 << n.n

(Il+1) < mon ;

ll\nll ;

n << n n ;
(n+1)+(n-2) << " "

(n+D)+(n-1)+(@-3) + ...

n \n n ;
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cin >> n ;

for (r=1; r<=n; +r ) {
for (c=1; c<=1 ; ++c ) {
f=...; // £ FEELG AR
// BB HNE

cout << f << " "

}

cout << "\n" ;

}
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#include <iostream>
#include <iomanip>

using namespace std ;
int main() {
int r , ¢, n, f;
cout << "> "
cin >> n ;
cout << "\n\n" ;
for (r=1; r<=n; +r ) {
for (c=1; c<=1; ++c ) {

f = nx(n+1)/2 - (n-c+1)*(n-c+2)/2 + (r-c) + 1 ;
cout << setw(b) << f << " "o,

cout << "\n" ;
return O ;

}
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cin >> x ;
num = 1. ; // ZWEWST
den = 1. ; // BENS R
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den
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num
den
exp

num
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exp

num
den
exp

+ %

+
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num / den ;

X

2 .
num / den ;

% -
o -
num / den ;
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for ( int

}
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num =

den =

exp =

i

1;4i<=n; ++i) {

num * x ;

den * i ;

exp + num / den ;

#include <iostream>

using namespace std ;

int main() {

int n
double
cin >> x ;

den =

X

num

for ( int

num
den

exp

’

10 ;

, den ,

exp =

i=1;
num * X

den * i ;

>

>

exp + num / den ;
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}
cout << "exp(" << x << ") = " << exp << endl ;
return O ;
}
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o

>=
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o ] DU R R Uk i 8 I By 72 A arctan(x) MYZEEhRBE =0 ¢

3 5 2n+1
arctan(x)%x—%+%+...+(_1)nx

2n+ 1

R arctan(1) = § » KL 7 = 4arctan(1) o B n 8OK - G E L EGE T HIER K
BAE > BEAR LA A E TR RS AEE N AR E AV E R - E MR E AR X
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ZiELiEX
#12¢ arctan(x) MBI X WTLIHEAN arctan(x) MIEHE HAFAR Egbg 16 H
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x=1;

atan = 0 ;

//i=1

num = X ;

den =1 ;

atan = atan + num/den ;

//i=2

num = num * X * X ; // num = x°3
den = 3 ;

atan = atan - num/den ;

// i=3

num = num * X * X ; // num = x°5
den =5 ;

atan = atan + num/den ;
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//i=n

num = num * X * X ; // num = x~(2n-1)
den = 2*n-1 ;

atan = atan - num/den // WR i R R
atan = atan + num/den // R i AT
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DMEBEL
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for (i=1; i<=mn; ++i ) {

if (i ==1)
num = x ;
else
num = num * X * X ;

den = 2%i-1 ;

if (1%2==1)

atan = atan + num/den ;
else

atan = atan - num/den ;

}
DL EwafE if a9 =0nT 43 5 A hy
num = (i ==17x : num * X ¥ X ) ;
atan = atan + ( 1 % 2 == 1 7 num/den : -num/den ) ;

A 4% 2==18 19 2 E@&EXAEMNMEE > FR atan = atan + ... 0]
ARy atan += ... Kb ECRTAE LR

atan += (i % 2 7 num/den : -num/den ) ;
a0 T BEE R 2k T E R

#include <iostream>

using namespace std ;

int main() {

double pi , atan , num , den , x ;
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x=1;
atan = 0 ;

for (int 1 = 1 ; i <= 1000000 ; ++i ) {

num = (1 ==17x : num * X ¥ X ) ;
den = 2%i-1 ;
atan += (i % 2 ? num/den : -num/den ) ;
}
pi = 4 * atan ;
cout << "PI = " << pi << endl ;
return O ;

}
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